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Physics–Year XI				Worksheet 			       Term II (2023-24)
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Question Answer Marks
1(a) |22s B1
1b) | Any two from: B2

« Line on graph is horizontal/ gradient is zero
o (therefore) no acceleration / speed is constant
o (resultant) force causes is proportional to acceleration
1) |85ms? A3
(a=) Av/tin any form OR gradient of graph OR 12.8/1.5 OR other suitable values from graph (1)
(1.5, 12.8) both seen OR alternative suitable points on the line identified (1)
1d) | 05x12.8x 1.5 (=9.56/9.6m) OR 6.4 x 1.5 (= 9.6) A2
(length of ramp) = area under graph (between 0-1.5's) OR average velocity x time (1)
Question Answer Marks
2(a)() | extension (of the spring) is (directly) proportional to the force / load (applied to the spring, up to the limit of proportionality) B1
2(a)(i) | W=mg in any form OR force is (directly) proportional to mass B1
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